HOMEWORK 5

WHAT SHOULD BE THE TRANSFER FUNCTIONS OF H1 AND H2 IN THE 2+1 MASH
SHOWN BELOW SO THAT THE INPUT X APPEARS IN Y UNDISTORTED, AND THE
QUANTIZATION ERROR OF THE FIRST STAGE IS CANCELLED? WHAT ARE THE NTF
| AND STF FOR THE WHOLE SYSTEM?
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. CALCULATE THE OUTPUTS Doutl AND Dout2 IN TERMS OF THE INPUT Din AND
HE QUANTIZATION ERRORS el AND e2 FOR THE MASH D/A CONVERTER SHOWN
BLOW IN FIG.1.
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). ANALYZE THE CIRCUIT OF FIG.2. WHAT AD FUN!
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ECE428/528 Final 4 R June 5, 2000

2(a) For the feedforward delta-sigma loop, find b such that the signal transfer function is 1.

2(b) Find a such that for H,(z) =H,(2) = —1—1 , the noise transfer function is (1-z™").
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